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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) wemeff wayem 379 I3 -uF W AT Jrfard: forg |

Candidate must write first his/her Roll No. on the question paper
compulsorily.

2) wft I & AR B |

All the questions are compulsory to attempt.

(3) T T T I < TS ST-YIaeh H & ford |

Write the answer to each question in given answer-book only.
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SECTION - A

TgfashedTa wo : T forehed T

Multiple Choice Questions : Choose the correct option : (16 x 2= 18)

1. =99 %H 91t TR-Hiftgeh GuR HITHL 2 ?
(31) T|mW (&) W
@) RIS gE-vE @ e

Which of the following is a type of non-verbal communication ?
(A) Gesture (B) Expressions

(C) Body language (D) All of these Ya

2. foref ot 55 BISTT bl Wi hl WTTdehe Hofl AT BT & 7
(31 Ctrl+0 @) Ctrl+C
@) Ctrl+V @ Ctrl+P

What is the short-cut key to open an existing file ?
(A) Ctrl+O (B) Ctrl+C

(C) Cul+Vv (D) Ctrl+P Ya
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3. T Ul o S IEHRHA eI sae dH b folw, . w1 Iwam R S g |
(3 FX (d) T
(@) TR (@) T I IS T
is used to insert an information automatically to the top of each page.
(A) Footer (B) Header
(C) Flow chart (D) None of these Ya

4. HEFT T IeC H GNEdd i o foru forar ferered o1 SU=TT ot Tehd B 7
(37) i T8 (@) wEERe
(|) ®I<HH @) 3|

Which option can be used to make changes in a character or word ?
(A) Fontsize (B) Subscript

(C) Font face (D) All of these Y

5. =49 9F ues 98 NAfET gideast w1 IS g

(3) THTH-THRA () THCH-UTEEe

(@) THTE-E (@) & hIg T

Which of the following is an example of word processing software ?

(A) MS-Excel (B) MS-PowerPoint

(C) MS-Word (D) None of these Ya
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6. Teh B 3R g e s gt 2 |

(37) T 3T FI (&) T 3R hiem

(@) heet IR HicH (]) ¥ I HaA

A spreadsheet is made from and

(A) Row and Cable (B) Row and Column

(C) Cable and Column (D) Root and Cable Ya

7. =A@ w99 sniuesE o e @ 7
(31) TS I PAX (q) U sih

(F) T 3R ALY (€) hicTH I

Which of the following is an option for page orientation ?
(A) Header and Footer (B) Page Break

(C) Portrait and Landscape (D) Column Freeze Ya

8. T 4%k DBMS HITHR S ?
(31) MySQL (&) Java
@) C++ () MS-Word

Which of the following is a type of DBMS ?
(A) MySQL (B) Java

(C) C++ (D) MS-Word A
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9. RDBMSH ‘R’ & &I Hdcid gld1 & ?

(37) Wen (@) Trea fsq

@) fepi @ e

What is the meaning of ‘R’ in RDBMS ?

(A) Random (B) Recycle Bin

(C) Record (D) Relational Ya

10. =1 H O % T HNH S HT TR R 7

() FLOAT () DECIMAL

() INTEGER (@) IuTreRs gt

Which of the following is a numeric data type ?

(A) FLOAT (B) DECIMAL

(C) INTEGER (D) All of these Y

11, “H4 <@ T 31e 6w 31} avg o U &y K fea |7

Iuerd ICTEL0T § TSR shl TehR &I 8 ?
() FepRIH fdfsha (d) GHRIE ffRa
@) IS gfafsrar & (@) T A BB G

“I saw that you finished the work well.”

What is the type of feedback in above example ?

(A) Negative feedback (B) Positive feedback

(C) No feedback (D) None of these Ya
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12. OFTE S shl dehieh Bidl 8
(37) IUF YEEA (§) ThRIcHHAT
(@) Sifereh e ol sFafeyd @A (@) TEusdt

Technique for Stress Management is
(A) Time Management (B) Positivity

(C) Keeping Academic life organized (D) All of these Y

13, SFIH 3TH ITel TRIE i 1 GG | ek T HehdT 1 |

(37) TA-aEE (§) HISH I 2T

(F) UTRIES HIHSIL Shl TN hich (T) UTHES &I

Virus entering in computer can be stopped with the help of
(A) Anti-virus (B) By disconnecting the mouse

(C) By using pirated software (D) By removing password Ya

14. =98 %9 a1 a%a STl HT P § ?
(31) It <ht frer o (@) A gM

(@) e H T (Q) HE! UEAd BT

Which of the following is not the characteristic of successful entrepreneur ?
(A) Taking work responsibility (B) Patience

(C) Be under stress (D) Doing hard work Ya
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15. i) foere § gefid gaen s g 7

(3 9= (¥ S

(@) e @ uEEf

What is the problem related to sustainable development ?

(A) Food (B) Water

(C) Fuel (D) All of these Y

16. =19 @ o @1 T 31Seye fearga ® 7
(31 Tt @) H-aqE
@) H=E @ FJgEd

Which of the following is an output device ?

(A) Printer (B) Key-board
(C) Mouse (D) All of these Ya
Qg —¢
SECTION - B
T EAHSD T

Very Short Answer Type Questions :

Teh 162 3T Teh 199 | I SIS

Write answer in one word or one sentence. 8x'n=4)
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17.

18.

19.

20.

21.

22.

23.

24.

RAM @1 g0 7 fefgm |
Write full name of RAM.

fepet U STehfereh Teme 1 = forfw |

Write name of any one natural resource.

et % fopel o1 fet (ard) = - forfiaw |

Write name of any two parts of computer.

T3 HER 1 T 3T feTfae |

Write an example of Visual Communication.

FEET FTE ?

What is Autosum ?

SQL &1 g1 A ferfa |
Write full name of SQL.

MS-Word H ‘MS’ &1 1 Hdcld gidl & ?

What is the meaning of ‘MS’ in MS-Word ?

AT firen w1 Tk Ierge fafiay |

Write an example of Operating System.
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25.

26.

27.

28.

29.

30.

9
Qg -4

SECTION - C

ST T : Q 8 =R Ui § 3oL e ;

Short Answer Type Questions : Give answer in two to four lines :

TR H IS T BTl 8 7

What is file in computer ?

Afges =R & <1 Bre fafay |

Write two advantages of Verbal Communication.

T TS GTFa=R o his €1 3gA forfau |

Write two applications of Word Processing Software.

R LI T HHATIE] o feTT T STdTeror giH1 =1feT ?

What should be the environment for employees at the workplace ?

A FTEATS ?

What is Footer ?

THA § Ueh A § 3719 R GHed & 7

What do you understand by a cell in Excel ?
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31. DBMSHFOFTE S ?

What is Query in DBMS ? 1

32, TS YU R BIAT S ?

What is Stress Management ? 1Y
Qg -3¢
SECTION - D
EELSIER R
Essay Type Questions : Bx2=6)

33. oo U shi 9 IgTetr wfed ST |

Explain text wrapping with example. 2

JYET/OR
U TS & 3719 =1 g9erd @ ¢ foedr § 9o hifsre |

What do you understand by Page Margin ? Explain in detail. 2

34. gid v & R | forfigu |

Write about Green Skill. 2
JYATI/OR

eI shisl I B & ?

What are function keys ? 2
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35. W-JaEA FTEAE ?
What is Self-Management ?
3AYCT/OR

hicTH B35S U9 3MEISE ¥ 3119 1 99eid & ?

What do you understand by Hiding and Un-Hiding a Column ?
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